
زمین‌شناسی
تجربی98کنکور

نظام‌جدید‌خارج

10صفحه‌1گزینه

www.konkur.in

forum.konkur.in



زمین‌شناسی
تجربی98کنکور

نظام‌جدید‌خارج

1گزینه

12صفحه‌

𝑝 = 8
𝑝2 = 𝑑3

𝑑3 = 64
𝑑 = 4

واحد‌نجومی‌است‌و‌چون‌زمین‌بین‌4فاصله‌شهاب‌از‌خورشید‌
شهاب‌و‌خورشید‌قرار‌دارد‌و‌فاصله‌زمین‌و‌خورشید‌یک‌واحد‌
.نجومی‌است،‌پس‌فاصله‌شهاب‌و‌زمین‌سه‌واحد‌نجومی‌است
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TH=2.5(40)+4.1(30)=100+121=221
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آبدهی‌برابر‌است‌با‌
:حاصلضرب

عرض،‌عمق‌و‌سرعت
عرض‌و‌عمق‌مساحت‌را‌

.تشکیل‌می‌دهند
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اگر‌سطح‌راستی‌را‌به‌
عنوان‌مبدأ‌در‌نظر‌
بگیریم،‌سطح‌کناری‌
ی‌نسبت‌به‌آن‌پایین‌رفت

که‌این‌یعنی‌گسل‌عادی،‌
حالا‌سطح‌وسط‌به‌عنوان‌

مبدأ‌در‌نظر‌گرفته‌
می‌شود‌که‌سطح‌چپ‌
نسبت‌به‌آن‌بالا‌رفته‌و‌
.می‌شود‌گسل‌معکوس
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نزدیک شدن مرزها

انحنا بدون تغییر ضخامت

www.konkur.in

forum.konkur.in



زمین‌شناسی
تجربی98کنکور

خارجنظام‌جدید‌

100صفحه‌2گزینه

www.konkur.in

forum.konkur.in



تجربی98کنکورزمین‌شناسی
خارجنظام‌جدید‌

3گزینه

98و‌17صفحه‌
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است‌که‌مورد‌اول‌قدیمی‌تر‌از‌مورد‌دوم‌
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